>Wmin
| o -
) A ) - . || g ) A
e ., : |' Lo
4 _ . SR
< fq./ -t ..AU q a -
>C20/25

D G-

Dim Art.Nr. Wmin(mm) | @Y(mm) | Z(Nm)
M8x71 303000/8008557 80 08 15
M10x86 303005/8008561 100 @10 30
M12x86 303001,/8008559 120 @12 50
M12x106 |303003/8019914 120 012 50
M16x120 | 303010/8008562 160 @216 100
M16x150 |303002/8008560 160 216 100
M20x175 | 303011/8008563 200 020 200
(HAGS -5
NN
%?JEE I-%x1p8nder
>C20/25
S1-S3 1 (1 )
& 101

\SthTJ [S®>|oc |2°12'°4'23|1jj)




